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ETE Aa|AaB | B |cB|Dc|DO|EC|EO|FX|FY|[Fz| G| I | J ] K]|NA NB P | Q| R
MHS3-16D| 35 | 32 | 30 | 11 | 15 | 17 125 11| 3 | 25| 4 [10] 4 | 8 | 5193, | 2 |M3x05] 6 | 25
MHS3-20D| 38 | 35 | 36 | 13 | 18 | 20 145/ 13| 3 | 27| 5 [ 12| 5 | 10 | 609950 | 25| M5x0.8 | 7 | 29
MHS3-25D| 40 | 37 | 42 | 15 | 21 | 24 10 | 17 [145) 5 | 28| 5 | 14| 6 |12 | 6h90 .. | 3 | M5x08| 8 | 34
#HE SA[sB[sc|TB] UA [UB VA VB WA XA XB
MHS3-16D | 3.4 | 65 | 8 M3x0.5| 4.5 | 2H9*00%5 17H9* 043 | 2Hg*2025 | 2
MHS3-20D | 34 | 65 | 95 M3x0.5 2H9*00%5 21H*0:052 | 2He*00 | o
MHS3-25D | 45 | 8 | 10 M4x0.7 3H9*00%5 26H9*0-052 | 3Hg*00 | 3

4.134
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EE A AB|Ac] B|calcB|Dc|DO|EC|EO| FX|FY|FZ]| G Il J ] K L M | NA NB
MHS3-32D | 44 | 41 | 3 |52 | 8 | 16 | 28 | 32| 8 |12 | 22 |195 5 [305| 6 | 20 | 9 |2H9 *0025| 2 | 14 [8h9 J .o
MHS3-40D | 47 | 44 | 3 | 62 17| 31 [ 35| 10 | 14 [265(235( 6 |32 | 7 | 21 | 9 |3H9 *30%5| 2 | 16 |8h9 T .0
MHS3-50D | 55 | 52 | 3 | 70 20 | 35 | 41 | 11 | 17 | 31 | 28 | 6 |375| 9 | 24 | 10 [4H9 *0030] 2 | 18 [10n9 § .o
MHS3-63D | 66 | 62 | 4 | 86 | 12 | 22 | 43 | 51 | 15 | 23 | 38 |345| 7 | 44 | 11 | 28 | 11 |6H9 *39%0| 3 | 24 |12h9 § .
MHS3-80D | 82 | 77 | 5 | 106 [13.5| 27 |535|63.5/21.5(31.5(47.5|435| 8 | 56 | 12 | 32 | 12 |8H9 *39% | 4 | 28 |14h9 § .

e o) P Q| R|[sa|sB|sc| TA | ™| UA [UB VA VB WA wB XA XB | YC
MHS3-32D | 45 | M5x0.8 | 11 | 44 [ 45| 8 | 9 [M4x0.7| 8 |M4x0.7 | 6 |3H9 *3925] 3 |34H9*3062( 2 |3H9 +3025] 3 | 6
MHS3-40D | 4.5 | M5x0.8 | 12 | 53 [ 55 | 95 | 9 |M4x0.7| 8 |M5x0.8 | 7.5 |4H9 *30%0| 4 |42H9+30621 o j4Hg +3050T 4 | g
MHS3-50D | 5 | M5x0.8 | 14 | 62 | 55 | 95 | 12 | M5x0.8| 10 | M5x0.8 | 10 [4H9 *30%0| 4 |50HQ *0.074] 2 [4Hg 00301 4 | 7
MHS3-63D | 5.5 | M5x0.8 | 17 | 76 | 6.6 | 11 | 14 | M5x0.8| 10 | Méx1 | 9 |5H9 *30%0| 5 |e5HY *0074| 25 [5HY *0.030] 5 | 75
MHS3-80D | 6 [Re(PT)%| 20 | 95 | 6.6 | 11 | 19 | Méx1 | 12 | Mex1 | 12 [6H9 *J0%0| 6 |82H9 *0087| 3 [eHo *0030| 6 | o
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ETE AM | AB|AC| B|ca|lcB|DCc|DO|EC|EO|FX|FY|Fz| G | I J | K L NA NB
MHS3-100D| 96 | 90 | 6 |[134| 18 |30.6| 66 | 78 | 28 | 40 | 59 | 54 | 10 | 63 | 15 | 38 | 15 | 8H9 *00%€| 4 | 34 [18h9 O ..
MHS3-125D| 122 | 114 | 8 [166|23.5| 38 | 82 | 98 | 30 | 46 | 74 | 68 | 12 | 84 | 18 | 52 | 21 [10H9 *39%¢| 6 | 40 [22h9 § .,

e 0 P Q| R|SA|[SB|SC| TA TB| UA |UB VA VB WA wB XA XB
MHS3-100D| 7.5 |Rc(PT)%| 23 | 118 | 9 | 14 | 21 [M8x1.25| 16 |M8x1.25| 16 | 8H9 *D0%¢| 6 |102H9 *3987| 4 |sgHg *3:0%
MHS3-125D( 10.5 | Re(PT)% | 31 | 148 | 11 [17.5| 34 [M10x1.5| 20 |[M10x1.5] 20 |10H9 *39%6| 8 |130H9 *3-100( 6 |10H9 +3-0%

4.135





